#AE FS-A65Kg

1

2

3

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

thim ERIE
—K &3t
Lg% B

fBHE X
wE 1
AR R
=l finds
AH [EE
#HE BA
wa RE
=/ Ft
KH #AKER
ZH &1E
SH HE
wH £
HE BEAER
Bl Et
fetbE R
=i K
2% g

HERF
EBRE
BAREEARFE

BARFERFE
HAKRFE
BaXE
wR)IIKF
ETEEARF

B
>t
Nk

z=
=]

RERXAEKRF
B IKF
ELfEXRF
BARFERFE
HEXF
BR)IKF

BAVIIRZZR—YKRFE

IWEEFBRFE
BHAKFE
ETEEARF

PHAFERBFZEL RV TRFIEREHNERE

10
VSuU 0
10 4:47
VSuU
2:25 0
0 VPO 6
4 6:00
VPO1 2
6:00
2 VSU1
10 3:47 6
VSuU
1:14 13
0 VPO 2
0 6:00
VFA 0
4:05] VPO
7 6:00 0
3|
VPO1
6:00 4
1 VPO
. 6:00 0
VFO 7
VPO
6:00
3
0 VPO1
0 6:00
VSuU 0
10 2:11
VSuU
4:26 10
0 VPO 1
6:00
VFO 0
VSuU
4:51
0 5
VSuU
4:34) 11
11 VPOI1
2 6:00 3
VPO1 10
6:00] VSU
2 1:30 2
VFO
0
VSU1
10 5:52 8
VSuU 10
2:35 VSU
0 3:46
13




